HER LO2ER ($#5 56 AX)

1 BERKR

FERIZETHEBMG DR (ST FE~THSE)

BFE6AXRICHEITHRAE B DHER

300
250

200

o

o

268
163
150
121 114 111
10
5
0
R1 R2 R3 R4 R5

HHOFE6AKRT. 268 FHLEL TVET.
X3k

BEXORII I MREL L&D

PR AATOEIY —SrhaEFBL EL&D
BRHREDSVRYERREEALELED

2 RAFEK
B|RHEY - A IRBYDRKAE] RT7HERYHIEITT .

ZOHMOENEH

3 A0
HAONSDEANSE|, BHLDERANKN2EITY,
Bil- 54

BELSOE
17.5%

M7 T 70%, NEGRE AL THBEREAL TWD 720, HAERORA 10 0%ITR52WEERH Y £9°,




4 THETH A FEEIKR

SHSFE6AR |SH4F6HKR| AIELL te i =
=X 268 111 157 141.4%
FER 89 15 74 493.3%
FETHRX 56 10 46 460.0%
FERERIX 3 0 3 —
FETHRERX 12 3 9 300.0%
FETEERX 8 1 7 700.0%
FERHZEX 10 1 9 900.0%
FERXRERX 0 0 0 —
k¥ 4 0 4 —
mllh 5 9 —4 —44 4%
fintah 28 6 22 366.7%
fELLTH 0 1 ~1 -100.0%
AEET 5 7 -2 -28.6%
Na] 9 14 -5 -35.7%
grHET™H 6 0 6 -
ANl 8 2 6 300.0%
BETH 1 3 -2 -66.7%
Ey=liil 9 5 4 80.0%
e 1 1 0 0.0%
JEth 5 12 -7 -58.3%
oo ditl 2 2 0 0.0%
izhiil 12 1 11 1100.0%
hRh 14 5 9 180.0%
P ] 6 0 6 —
A it 8 5 3 60.0%
oA il 1 0 1 —
Bram 4 0 4 —
B )1l 0 4 —4 -100.0%
BiEm 3 1 2 200.0%
=9 il 1 0 1 —
ik diil 2 2 0 0.0%
uE™ 9 0 9 —
/7 ET 5 4 1 25.0%
J\#EH 4 0 4 —
ENdah 6 7 -1 -14.3%
=Eidil 4 0 4 -
EEBmH 2 2 0 0.0%
FEWh 1 0 1 —
W HH 3 2 1 50.0%
N =] 1 0 1 —
B9 /2 FEHT 1 0 1 -
BREHT 0 1 -1 -100.0%
Ea=1: 3 0 3 —
12 SeHT 3 0 3 —
FARET 1 0 1 -
KT 2 0 2 —

KAEFIXEMERT

MKEEDLZUVHEFIZDOVTIT AR




5 ZREZEMHEH

Z = ZE[smsEeAk
FEFR 56
(REERZEE] T xR 8
T ¥ A 2
. HBE 13
) NFHE]
(L FRE k '%?‘ o & Z
[ AQ ’ (EmE) N F & 8
CNaED! (REE) i & 6
¢ \ &
- T ~ e e
VEE] ® 7 & 4
i e

(2] ’ e [l Ji 3
) (i & 2

(H%E ‘-‘{‘7.} ; 7
}0’& . (LEE) B = 2
\ o~ Q N 7
(RetaE (FEIE] N » wF ® 2
Ut (FEEE] 5 H 6
(BEHE]  [(rmaas (x&E) iz 12
i i 6
¥ 7% F 1
& = 14
i 9
54 H 3
iy = 0
EM ] 10
E i) 4

(LF %8 o

(E2E) 8k + 4
i} 5
=2E) [ B 0
] 2y 3
()11 2] = £ z
; i = 11
T W g # 3
i H 0
O (U] L 1+ 15fLlE21#LT il 5 14
D sttotrapuT % L f: 10
; 3

Vi
[ ] 1#uE7#uT = # 1
1 manL g2l 0
e JI| 0




